
 

                          

l-incenter.Prove that :  

𝐜𝐨𝐭 𝜽 =
𝟏

𝐬𝐢𝐧 𝑨
∙ [𝟐 − 𝐜𝐨𝐬 𝑨 +

𝒃

𝒂 + 𝒄
(𝟏 − 𝟐 𝐜𝐨𝐬 𝑨)] 

Proposed by Thanasis Gakopoulos-Greece 

Solution by Mirsadix Muzefferov-Azerbaijan 

                           



 
İn ∆𝑨𝑩𝑪 BE and CF are the bisectors. Then: 

𝑨𝑬 =
𝒃𝒄

𝒂 + 𝒄
 ;  𝑨𝑭 =

𝒃𝒄

𝒂 + 𝒃
 ; 𝑩𝑭 =

𝒂𝒄

𝒂 + 𝒃
  (𝟏) 

İn ∆𝑨𝑭𝑬 rule cosine: 

𝑭𝑬𝟐 = 𝑨𝑭𝟐 + 𝑨𝑬𝟐 − 𝟐𝑨𝑭 ∙ 𝑨𝑬 𝒄𝒐𝒔 𝑨 (𝟐) 

İn ∆𝑨𝑩𝑬 rule cosine: 

𝑩𝑬𝟐 = 𝑨𝑩𝟐 + 𝑨𝑬𝟐 − 𝟐𝑨𝑩 ∙ 𝑨𝑬 𝒄𝒐𝒔 𝑨  = 

= (𝑨𝑭 + 𝑭𝑩)𝟐 + 𝑨𝑬𝟐 − 𝟐(𝑨𝑭 + 𝑭𝑩) ∙ 𝑨𝑬 𝒄𝒐𝒔 𝑨  (𝟐𝑨) 

İn ∆𝑭𝑬𝑩 rule sine : 

 
𝒔𝒊𝒏 𝜽

𝑩𝑭
=

𝒔𝒊𝒏 𝑩𝑭̂𝑬

𝑩𝑬
⇒ 𝑩𝑬 = 𝑩𝑭 ∙

𝒔𝒊𝒏(𝜽 + 𝜶)

𝒔𝒊𝒏 𝜽
 (𝟑) 

İn ∆𝑨𝑭𝑬 rule sine : 

 
𝒔𝒊𝒏(𝜽 + 𝜶)

𝑨𝑬
=

𝒔𝒊𝒏 𝑨

𝑭𝑬
⇒ 𝑭𝑬 = 𝑨𝑬 ∙

𝒔𝒊𝒏 𝑨

𝒔𝒊𝒏(𝜽 + 𝜶)
  (𝟒) 

From (3) and (4) we have : 

 𝑩𝑬 ∙ 𝑭𝑬 = 𝑩𝑭 ∙ 𝑨𝑬 ∙
𝒔𝒊𝒏 𝑨

𝒔𝒊𝒏 𝜽
   (𝟓)  

İn ∆𝑭𝑬𝑩 rule cosine : 

 𝒄𝒐𝒔 𝜽 =
𝑭𝑬𝟐+𝑩𝑬𝟐−𝑩𝑭𝟐

𝟐𝑭𝑬∙𝑩𝑬
   (∗) 

Let’s use the expressions (2),(2A) and (5) in (∗) 

𝐜𝐨𝐬𝜽 =
𝑨𝑭𝟐 + 𝑨𝑬𝟐 − 𝟐𝑨𝑭 ∙ 𝑨𝑬 𝒄𝒐𝒔 𝑨  + (𝑨𝑭 + 𝑭𝑩)𝟐 + 𝑨𝑬𝟐 − 𝟐(𝑨𝑭 + 𝑭𝑩) ∙ 𝑨𝑬 𝒄𝒐𝒔 𝑨  

𝟐𝑩𝑭 ∙ 𝑨𝑬 ∙
𝒔𝒊𝒏 𝑨
𝒔𝒊𝒏 𝜽

 

𝐜𝐨𝐭(𝜽) 𝐬𝐢𝐧(𝑨) =
𝑨𝑭𝟐

𝑩𝑭 𝑨𝑬
+

𝑨𝑬

𝑩𝑭
+

𝑨𝑭

𝑨𝑬
−

𝟐𝑨𝑭𝒄𝒐𝒔(𝑨)

𝑩𝑭
− 𝐜𝐨𝐬(𝑨) 

𝑳𝒆𝒕′𝒔 𝒖𝒔𝒆 𝒆𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒐𝒏  (𝟏) 

𝐜𝐨𝐭(𝜽) 𝐬𝐢𝐧(𝑨) = (
𝒃𝒄

𝒂 + 𝒃
)

𝟐 𝒂 + 𝒃

𝒂𝒄
 
𝒂 + 𝒄

𝒃 + 𝒄
+

𝒃𝒄

𝒂 + 𝒄

𝒂 + 𝒃

𝒂𝒄
+

𝒃𝒄

𝒂 + 𝒃

𝒂 + 𝒄

𝒃𝒄
−

𝟐𝒃𝒄

𝒂 + 𝒃

𝒂 + 𝒃

𝒂𝒄
𝐜𝐨𝐬(𝑨) − 𝐜𝐨𝐬 (𝑨)) 

=
(𝒂 + 𝒄)𝒃

(𝒂 + 𝒃)𝒂
+

𝒃(𝒂 + 𝒃)

𝒂(𝒂 + 𝒄)
+

𝒂 + 𝒄

𝒂 + 𝒃
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨) − 𝐜𝐨𝐬(𝑨)) 



 

=
𝒂 + 𝒄

𝒂 + 𝒃
(

𝒃

𝒂
+ 𝟏) +

𝒃(𝒂 + 𝒃)

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨) − 𝐜𝐨𝐬(𝑨) =

𝒂 + 𝒄

𝒂
+

𝒃(𝒂 + 𝒃)

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨) − 𝐜𝐨𝐬(𝑨) 

= ((𝟏 − 𝐜𝐨𝐬(𝑨)) +
𝒄

𝒂
+

𝒃(𝒂 + 𝒃)

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨))

= 𝟏 − 𝐜𝐨𝐬(𝑨) +
𝒄(𝒂 + 𝒄) + 𝒃(𝒂 + 𝒃)

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨) = 

= 𝟏 − 𝐜𝐨𝐬 𝑨 +
𝒂𝒄 + 𝒄𝟐 + 𝒂𝒃 + 𝒃𝟐

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
∙ 𝐜𝐨𝐬 𝑨 = 

= 𝟏 − 𝐜𝐨𝐬(𝑨) +
𝒂𝒄 + 𝒂𝒃 + 𝒂𝟐 + 𝟐𝒃𝒄 𝐜𝐨𝐬(𝑨)

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨) 

= 𝟏 − 𝐜𝐨𝐬(𝑨) + 𝟏 +
𝒃(𝒂 + 𝟐𝒄 𝐜𝐨𝐬(𝑨))

𝒂(𝒂 + 𝒄)
−

𝟐𝒃

𝒂
𝐜𝐨𝐬(𝑨) 

= 𝟐 − 𝐜𝐨𝐬(𝑨) +
𝒃

𝒂 + 𝒄
(

𝒂 + 𝟐 𝐜𝐨𝐬(𝑨)

𝒂
−

𝟐(𝒂 + 𝒄) 𝐜𝐨𝐬(𝑨)

𝒂
) 

= 𝟐 − 𝐜𝐨𝐬(𝑨) +
𝒃

𝒂 + 𝒄

𝒂 − 𝟐𝒂 𝐜𝐨𝐬(𝑨)

𝒂
= 𝟐 − 𝐜𝐨𝐬(𝑨) +

𝒃

𝒂 + 𝒄
(𝟏 − 𝟐 𝐜𝐨𝐬(𝐀)) 

𝐜𝐨𝐭(𝜽) =
𝟏

𝐬𝐢𝐧(𝑨)
(𝟐 − 𝐜𝐨𝐬(𝑨) +

𝒃

𝒂 + 𝒄
(𝟏 − 𝟐 𝐜𝐨𝐬(𝑨)))  (𝒑𝒓𝒐𝒗𝒆𝒅) 

 

 


